e YA X 5l = ELY Bl (FraA)

v 77 —1P 1?1000 T ¥4,000
V7 7 —2P 1®1700% T ¥6,000
v 7 7—3P 1®2200% T ¥8,000

KEBENY 77 —DAZETA X +4000Bi12%4 ) £,
XA = TF—TIL ~081400F T ¥3,000
A=V TTF—TI ~181800% T ¥4,000
KA TF—T)L ~1§2200F% T ¥5,000
Ve osr—7IL ~1g1400F% T ¥2,000
Ve osr—7ib ~1g1800% T ¥3,000
BAZVTF T 1D = ¥500
BA = IRV F2P ~1g1400F T ¥1,000
XA =R F3P ~1g1800F T ¥2,000
H—R—KF(TVR—F&Y) 181200/ &500% T ¥3,000
H—R— KF(TVR—F&aY) 181800/ 500% T ¥4,000
H—R—KF(TVR—F&Y) 182200/5 &500% T ¥5,000
S RILR=KHA RR—FKid) 181000/ 1000 T ¥3,000
SRILR=KHA RFR—FKiad) 1®1400/= 1000 T ¥4,000
SRILR=KHA RFR—FKiad) 1®1800/= 1000 T ¥5,000
NAR—=F(&R VR, BZEM. EHAL) 181000/=&1800% T ¥4,000
NAR—=F(R VR, BZEM. EHAL) 181400/=x1800% T ¥5,000
NAR—=F(&R VR, BEM. EHAL) 11800/ & 1800% T ¥6,000
Ry R7L—=L(E TV HZTL) 1®80~120% T ¥3,000
Ry R7ZL—L(XTN/ 04 =) 1E140~160% T ¥4,000

KEBEEIN Y &Y A X2 +10,000H

Ry bRy /o aAN( > TIL/2IXTN) 1E80~120% T ¥5,000

Rry bRy /AR TIN/TA =) 1®140~160% T ¥7,000

XEMEDOYy L RIFEHY A XIZ+2,000H




